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LIFE SCIENCE 

LSE-13 : PLANT DIVERSITY—II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. 
Attempt any six questions from question no. 2 to 10. 

1. (a) Explain the following in one or 5 
two sentences : 

(i) Osteosclereids 

(ii) Hard wood 

(iii) Spices 

(iv) Bark 

(v) Caruncle 

(b) Give botanical names of the plant that : 	5 

(i) has winged seeds 

(ii) produces walnut (edible part) 

(iii) yields sugar 

(iv) yields cocoa 

(v) contains reserpine 
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(c) Mention the morphology of the plant part 	5 
from which the following products are 
obtained : 
(i) Jute fibre 
(ii) Cocoa 
(iii) Mango (edible part) 
(iv) Ginger 
(v) Vetiverol 

2. 	Draw labelled diagrams of any two of the 
following : 	 5x2=10 
(a) T.S. fruit of Piper nigrum 
(b) L.S. young female cone of pinus 
(c) L.S. through rice spikelet 
(d) C.S. of root of Triticurn 

3. 	(a) Describe with the help of diagrams, five 	5 
diagnostic floral features of Lamiaceae/ 
Malvaceae. 

(b) Describe the botany of Litchi chinensis 	5 
plant. 

4. 	(a) With the help of diagrams, describe the 	5 
secondary growth in a dicotyledonous stem. 

(b) The flower is a determinate shoot. Explain. 	5 

5. 	Distinguish between (any two) : 	 5x2=10 
(a) Primary root and secondary root 
(b) Steroid and alkaloid drugs 
(c) Male gametophyte of Cycas and Pinus 

LSE-13 	 2 



	

6. 	(a) Write the differences between angiosperms 	5 

and gymnosperms. 

(b) Mention and describe any five features that 	5 

helped the angiosperms to become the most 

dominant group of plants. 

	

7. 	(a) Expand : IARI, NBRI 	 2 

(b) Describe the diagnostic features of the 	4 

family Cucurbitaceae 

(c) Enumerate various importance of the family 	4 

Asteraceae. 

	

8. 	(a) Describe the female Strobilus of Ephedra 	5 

with the help of diagram. 

(b) Compare the anatomy of normal and 	5 

coralloid roots of Cycas. 

9. 	Write short notes on (any two) : 	 5x2=10 

(a) Adaptations in leaves of angiosperms. 

(b) Carnivorous plants 

(c) Economic uses of Papaver sominiferum. 

(d) Diagnostic features of Liliaceae. 

10. What is a complex tissue ? Describe the important 10 

types of complex tissues in plants. 
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1. (a) 5 1:1 4-ifiiRAd 	ch zrrt -cfr-ITF4 : 
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(iv) .&*r -5rFa• fwzrr 	t I 

(v) -ft1:1Fch 	f*--zrr 	t I 

(c) 	1ff 	3N 94-rrr 4[1-  3-T-Wrrr 	cldI 	 5 

-5m:a   f : 

(i) 	1\e. 

3 	(7-5-A ?:1)171 ITITT 

(iv) 3-1-q-T" 

(v)  

	

2. 	•P-IRIRIcl 4 -4 r-W-77).% 31-Itr7g-ff 	4► -1 	I 	5x2=10 

(a) 1777/T 	Lbri 4 31-1-9-T-24 chid 

(b) vii 	It tT 4-11q1 1  ch1 31--P4 *Id 

(c) -cnao 4 chfj ► N►►  ch131--Ittzi chid 

(d) 1,d7 chH -EN 4 As 4 3T-TR-9-T chid 

	

3. 	(a) Alt71114-110 	 31.51-09 71171 -T1R1 	5 

cht F.,. •  ch1 .11(-11 	'T1-1--7 

(b) 	 quf-i --1-F-A7 I 	5 

	

4. 	(a) 	rg41\3-1 ,4/1 1:11q7 	ci4 ch1 fp-17T 1-rz T 	5 

r-ciA*I 	A --1-F-47 

(b) 	 &ti .611(9)4( c--1-FA7 I 	5 
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5. 	F-14-16R5c-1 14 14 r 4:rr-4 fit q --1-r--- 7 I 
	5x2=10 

(a) 712Til: 	I.  fg-dtziW •715 

(b) Ia 'cArlis 3ftEfft 

(c) Li/chc-1 1.  W-IKLI t 	vo->l<4-* 

	

6. 	(a) 	4:-.,*-14,44-4 <,i Riv--i1~44* 4 3-1- 7 -q-d-r 1 	5 

(b) 	4:-,3“-N-L-P-4 4) f--*- 	4=4 -Tiff 	q-ar-R ci •-11-)1 	5 

qui-9 --1-f-A-7 -q'r art'crrcr -4-17 	-4-44 31T1-q 

T117 -1 f I 

	

7. 	(a) f917f --1 79 tc.“-I ffftR I 	 2 

IARI, NBRI 

(b) Tv 	czi , -1 	t r-iqi-tio-icr) -@utrff cni 	i:rf-9 	4 

-wl-f-A7 1 

(c) -kitt -t-- 	-fqfr aTTWIT-6 -rffftR 1 	4 

	

8. 	(a) 	3--6-.  I-IIql tf 'Wl.  qrafff f-ciA ct 4oNdi 4 	5 

*WTF—A7 I 

(b) 	qi.ct,,,i-k 414-1H4 ,is c,i slain 1  *1 7.-4-?7g 

4-1,-11 ch qoit -4f-7 1 
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9. 	 tR ft 	: 

(a) ..44-4 chi -cifffzn' 	 

(b) 1:1-T94 141- 1.  

(c) LivicH \Li?4,17()?,(4-i' 	3Trr21--  ztrztrrr 

(d) Fri 	-11 jr--  

5x2=10 

10. 	\TI 	)(1011 cl-q I ? 7qt 	ITTffctiji 	 10 

-qtrk --1-F-A-7 
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